CONTRACT NO. 7490

				Conital	
		Sneedw	av Sand &	Capitol Underground,	R.G. Huston
		Speedway Sand & Gravel Inc.		Inc.	Company, Inc.
Item	Quantity	Price	Extension	Price	Price
Section B: Proposal Page					
10701.0 - TRAFFIC CONTROL - LUMP					
SUM	3.00	\$6,300.00	\$18,900.00	\$2,500.00	\$2,100.00
10801.0 - ROOT CUTTING - CURB AND					
GUTTER (UNDISTRIBUTED) - L.F.	75.00	\$5.00	\$375.00	\$8.40	\$15.30
10802.0 - ROOT CUTTING - SIDEWALK		•			·
(UNDISTRIBUTED) - L.F.	75.00	\$5.00	\$375.00	\$8.40	\$15.30
10911.0 - MOBILIZATION - LUMP SUM	3.00	\$3,300.00	\$9,900.00	\$35,000.00	\$3,000.00
20101.0 - EXCAVATION CUT - C.Y.	2,200.00	\$23.00	\$50,600.00	\$17.28	\$25.95
20219.0 - BREAKER RUN - TON	3,772.00	\$9.00	\$33,948.00	\$9.68	\$10.00
20221.0 - TOPSOIL - S.Y.	465.00	\$5.00	\$2,325.00	\$6.00	\$13.20
20321.0 - REMOVE CONCRETE					
PAVEMENT - S.Y.	950.00	\$4.00	\$3,800.00	\$4.20	\$4.55
20401.0 - CLEARING - I.D.	12.00	\$20.00	\$240.00	\$20.00	\$40.00
20403.0 - GRUBBING - I.D.	22.00	\$20.00	\$440.00	\$20.00	\$40.00
20701.0 - TERRACE SEEDING - S.Y.	465.00	\$6.20	\$2,883.00	\$4.00	\$6.20
21063.0 - EROSION MATTING, CLASS I,					
URBAN TYPE A-ORGANIC - S.Y.	465.00	\$2.75	\$1,278.75	\$5.50	\$2.75
30209.0 - SPECIAL WATERWAY - S.F.	580.00	\$9.00	\$5,220.00	\$8.92	\$8.20
30302.0 - 7 INCH CONCRETE SIDEWALK					
& DRIVE - S.F.	1,250.00	\$6.00	\$7,500.00	\$5.71	\$6.90
30340.0 - CURB RAMP DETECTABLE					
WARNING FIELD - S.F.	272.00	\$35.00	\$9,520.00	\$28.00	\$30.00
40201.0 - HMA PAVEMENT, TYPE E-0.3 -					
TON	3,760.00	\$53.98	\$202,964.80	\$53.98	\$54.63
40202.0 - HMA PAVEMENT, TYPE E-1 -					
TON	300.00	\$60.38	\$18,114.00	\$60.38	\$61.10
40211.0 - TACK COAT - GAL	60.00	\$3.00	\$180.00	\$3.00	\$3.04
40311.0 - PULVERIZE AND SHAPE - SY	20,045.00	\$3.15	\$63,141.75	\$2.24	\$2.90
40382.0 - REMOVE AND REPLACE CURB					
AND GUTTER, HAND PLACED -					
RESURFACING - L.F.	1,875.00	\$38.00	\$71,250.00	\$45.30	\$35.20
40391.0 - REMOVE AND REPLACE 5"					
THICK CONCRETE SIDEWALK -					
RESURFACING - S.F.	2,925.00	\$7.75	\$22,668.75	\$7.82	\$6.75
40392.0 - REMOVE & REPLACE 7" THICK					
SIDEWALK AND DRIVEWAY -					
RESURFACING - S.F.	2,265.00	\$8.00	\$18,120.00	\$8.63	\$7.60
21013.0 - STREET SWEEPING - LUMP					
SUM	3.00	\$500.00	\$1,500.00	\$2,837.18	\$470.00
21032.0 - INLET PROTECTION TYPE C -					
PROVIDE & INSTALL - EACH	2.00	\$50.00	\$100.00	\$84.00	\$50.00
21033.0 - INLET PROTECTION TYPE C -		·			·
MAINTAIN - EACH	2.00	\$10.00	\$20.00	\$30.00	\$10.00
21034.0 - INLET PROTECTION TYPE C -					
REMOVE - EACH	2.00	\$10.00	\$20.00	\$48.00	\$10.00
21056.0 - INLET PROTECTION TYPE D					
HYBRID - PROVIDE & INSTALL - EACH	32.00	\$75.00	\$2,400.00	\$168.00	\$75.00

CONTRACT NO. 7490

		Speedway Sand & Gravel Inc.		Capitol Underground, Inc.	R.G. Huston Company, Inc.
Item	Quantity	Price	Extension	Price	Price
21057.0 - INLET PROTECTION TYPE D HYBRID - MAINTAIN - EACH 21058.0 - INLET PROTECTION TYPE D	62.00	\$20.00	\$1,240.00	\$42.00	\$20.00
HYBRID - REMOVE - EACH	32.00	\$20.00	\$640.00	\$48.00	\$20.00
40362.0 - ADJUST ACCESS STRUCTURE CASTING- RESURFACING - EACH 40364.0 - ADJUST INLET CASTING,	16.00	\$450.00	\$7,200.00	\$408.00	\$515.00
TYPE "H" - RESURFACING - EACH 40371.0 - REBUILD ACCESS STRUCTURE TOP - RESURFACING -	1.00	\$500.00	\$500.00	\$432.00	\$480.00
EACH	2.00	\$1,300.00	\$2,600.00	\$1,680.00	\$1,305.00
50741.0 - TYPE H INLET - EACH 50762.0 - SADDLED INLET TYPE 2 -	2.00	\$1,800.00	\$3,600.00	\$1,643.29	\$2,190.00
EACH 50768.0 - TERRACE INLET TYPE 3 -	4.00	\$1,840.00	\$7,360.00	\$2,713.89	\$2,670.00
EACH 10702.0 - TRAFFIC CONTROL FOR STORM SEWER INSTALLATION - LUMP	1.00	\$4,800.00	\$4,800.00	\$4,734.50	\$3,900.00
SUM 10912.0 - MOBILIZATION FOR STORM	2.00	\$3,465.00	\$6,930.00	\$1,500.00	\$1,732.50
SEWER INSTALLATION - LUMP SUM	2.00	\$2,500.00	\$5,000.00	\$1,170.43	\$1,460.00
20313.0 - REMOVE INLET - EACH 21073.0 - EROSION MATTING, CLASS II,	10.00	\$250.00	\$2,500.00	\$398.00	\$405.00
TYPE C-ORGANIC - S.Y. 50211.0 - SELECT BACKFILL FOR	200.00	\$3.85	\$770.00	\$5.00	\$3.85
STORM SEWER - T.F. 50411.0 - 12 INCH RCP STORM SEWER	467.00	\$1.00	\$467.00	\$0.10	\$0.01
PIPE - L.F. 50437.0 - 43 INCH X 68 INCH HERCP	272.00	\$53.00	\$14,416.00	\$55.61	\$53.60
STORM SEWER PIPE - L.F. 50487.0 - 43 INCH X 68 INCH HERCP AE -	195.00	\$250.00	\$48,750.00	\$215.35	\$380.80
EACH	4.00	\$6,200.00	\$24,800.00	\$6,244.71	\$3,750.00
50801.0 - UTILITY LINE OPENING - EACH 90030.0 - CHANNEL & STORM CONTROL PLAN AND IMPLEMENTATION	3.00	\$600.00	\$1,800.00	\$570.00	\$575.00
- LUMP SUM	1.00	\$1,000.00	\$1,000.00	\$4,080.00	\$3,685.00
90031.0 - TURBIDITY BARRIER - L.F.	100.00	\$25.00	\$2,500.00	\$42.00	\$32.40
50722.0 - 6'X6' CATCHBASIN - EACH 10704.0 - TRAFFIC CONTROL FOR SANITARY SEWER INSTALLATION -	4.00	\$6,750.00	\$27,000.00	\$6,394.56	\$5,150.00
LUMP SUM 10914.0 - MOBILIZATION FOR SANITARY	1.00	\$900.00	\$900.00	\$1,000.00	\$900.00
SEWER INSTALLATION - LUMP SUM 20311.0 - REMOVE SEWER ACCESS	1.00	\$5,000.00	\$5,000.00	\$1,889.40	\$12,770.00
STRUCTURE - EACH	2.00	\$2,050.00	\$4,100.00	\$598.81	\$1,580.00

CONTRACT NO. 7490

		Speedway Sand & Gravel Inc.		Capitol Underground, Inc.	R.G. Huston Company, Inc.
Item	Quantity	Price	Extension	Price	Price
50212.0 - SELECT BACKFILL SANITARY SEWER - T.F. 50301.0 - 8" PVC SEWER PIPE (SDR 35) -	395.00	\$0.10	\$39.50	\$0.10	\$0.01
L.F. 50353.0 - SANITARY SEWER LATERAL	265.00	\$75.00	\$19,875.00	\$81.16	\$88.90
(SDR 35) - L.F.	130.00	\$41.00	\$5,330.00	\$24.80	\$18.10
50354.0 - RECONNECT - EACH 50361.0 - WASTEWATER CONTROL -	5.00	\$1,940.00	\$9,700.00	\$1,673.28	\$2,970.00
EACH	1.00	\$1.00	\$1.00	\$540.00	\$1,120.00
50701.0 - 4' DIA SAS - EACH	1.00	\$2,770.00	\$2,770.00	\$2,595.90	\$3,100.00
50791.0 - SANITARY SEWER TAP - EACH 50390.0 - SEWER ELECTRONIC	1.00	\$600.00	\$600.00	\$1,016.64	\$1,700.00
MARKERS - EACH 10703.0 - TRAFFIC CONTROL FOR WATER MAIN INSTALLATION - LUMP	13.00	\$50.00	\$650.00	\$20.40	\$45.00
SUM 10913.0 - MOBILIZATION FOR WATER	3.00	\$1,500.00	\$4,500.00	\$350.00	\$500.00
MAIN INSTALLATION - LUMP SUM 50225.0 - UTILITY TRENCH PATCH TYPE	3.00	\$3,000.00	\$9,000.00	\$17,948.16	\$3,400.00
III - T.F. 70002.0 - FURNISH AND INSTALL 6 INCH	350.00	\$24.00	\$8,400.00	\$50.51	\$48.10
PIPE & FITTINGS - L.F. 70003.0 - FURNISH AND INSTALL 8 INCH	360.00	\$79.00	\$28,440.00	\$83.94	\$106.50
PIPE & FITTINGS - L.F. 70004.0 - FURNISH AND INSTALL 10	3,600.00	\$94.00	\$338,400.00	\$89.41	\$88.00
INCH PIPE & FITTINGS - L.F. 70005.0 - FURNISH AND INSTALL 12	30.00	\$162.00	\$4,860.00	\$119.43	\$129.90
INCH PIPE & FITTINGS - L.F. 70031.0 - FURNISH AND INSTALL 6-INCH	2,680.00	\$104.00	\$278,720.00	\$96.44	\$128.70
WATER VALVE - EACH 70032.0 - FURNISH AND INSTALL 8-INCH	17.00	\$1,830.00	\$31,110.00	\$1,434.50	\$1,300.00
WATER VALVE - EACH 70033.0 - FURNISH AND INSTALL 10-	7.00	\$2,290.00	\$16,030.00	\$1,914.31	\$1,722.00
INCH WATER VALVE - EACH 70034.0 - FURNISH AND INSTALL 12-	1.00	\$3,020.00	\$3,020.00	\$2,833.19	\$2,387.00
INCH WATER VALVE - EACH 70040.0 - FURNISH, INSTALL AND	4.00	\$3,850.00	\$15,400.00	\$3,423.92	\$2,865.00
SALVAGE HYDRANT - EACH 70053.0 - REPLACE 1-INCH COPPER	13.00	\$4,750.00	\$61,750.00	\$4,263.52	\$3,155.00
SERVICE LATERAL - L.F. 70056.0 - RECONNECT 1-INCH SERVICE	255.00	\$59.00	\$15,045.00	\$66.27	\$81.90
LATERAL - EACH 70080.0 - CUT-IN OR CONNECT TO	81.00	\$1,284.00	\$104,004.00	\$1,380.98	\$1,475.00
EXISTING WATER SYSTEM - EACH 70081.0 - FURNISH EXCAVATION AND	7.00	\$1,750.00	\$12,250.00	\$2,204.59	\$1,900.00
DITCH FOR LIVE TAP - EACH	5.00	\$1,000.00	\$5,000.00	\$1,116.77	\$1,245.00

CONTRACT NO. 7490

		Capitol			
		Speedway Sand &		Underground,	R.G. Huston
		Gravel Inc.		Inc.	Company, Inc.
Item	Quantity	Price	Extension	Price	Price
70082.0 - CUT OFF EXISTING WATER					
MAIN - EACH	5.00	\$1,525.00	\$7,625.00	\$1,663.26	\$1,715.00
70090.0 - ABANDON WATER VALVE BOX					
- EACH	24.00	\$300.00	\$7,200.00	\$182.98	\$136.00
70101.0 - FURNISH AND INSTALL					
STYROFOAM - L.F.	120.00	\$19.00	\$2,280.00	\$11.16	\$12.20
70105.0 - PIPE PLUG FOR WATER MAIN					
INSTALLATION - EACH	2.00	\$400.00	\$800.00	\$469.70	\$1,715.00
50227.0 - UTILITY TRENCH PATCH TYPE					
IV - T.F.	8,100.00	\$3.00	\$24,300.00	\$5.77	\$8.10
Totals			\$1,738,756.55	\$1,838,783.57	\$1,843,184.52